

On generalized Laguerre matrix polynomials

Raed S. Batahan

Department of Mathematics,
Faculty of Science,
Hadhramout University, 50511,
Mukalla, Yemen
email: rbatahan@hotmail.com

A. A. Bathanya

Department of Mathematics,
Faculty of Education,
Shabwa, Aden University, Yemen
email: abathanya@yahoo.com

Abstract. The main object of the present paper is to introduce and study the generalized Laguerre matrix polynomials for a matrix that satisfies an appropriate spectral property. We prove that these matrix polynomials are characterized by the generalized hypergeometric matrix function. An explicit representation, integral expression and some recurrence relations in particular the three terms recurrence relation are obtained here. Moreover, these matrix polynomials appear as solution of a differential equation.

1 Introduction

Laguerre, Hermite, Gegenbauer and Chebyshev matrix polynomials sequences have appeared in connection with the study of matrix differential equations [8, 7, 20, 4]. In [13], the Laguerre and Hermite matrix polynomials were introduced as examples of right orthogonal matrix polynomial sequences for appropriate right matrix moment functionals of integral type. The Laguerre matrix polynomials were introduced and studied in [11, 14, 16, 17]. In [22], it is shown that these matrix polynomials are orthogonal with respect to a non-diagonal Sobolev-Laguerre matrix polynomials matrix moment functional. Recently, the

2010 Mathematics Subject Classification: 15A15, 33C45, 42C05

Key words and phrases: Laguerre matrix polynomials, three terms recurrence relation, generalized hypergeometric matrix function and Gamma matrix function

numerical inversion of Laplace transforms using Laguerre matrix polynomials has been given in [18]. A generalized form of the Gegenbauer matrix polynomials is presented in [2]. Moreover, two generalizations of the Hermite matrix polynomials have been given in [1, 19].

The main aim of this paper is to consider a new generalization of the Laguerre matrix polynomials. The structure of this paper is the following. After a section introducing the notation and preliminary results, we characterize, in Section 3, the definition of the generalized Laguerre matrix polynomials and an explicit representation and integral expression are given. Finally, Section 4 deals with some recurrence relations in particular the three terms recurrence relation for these matrix polynomials. Furthermore, we prove that the generalized Laguerre matrix polynomials satisfy a matrix differential equation.

2 Preliminaries

Throughout this paper, for a matrix A in $\mathbb{C}^{N \times N}$, its spectrum $\sigma(A)$ denotes the set of all eigenvalues of A . We say that a matrix A is a positive stable if $\operatorname{Re}(\mu) > 0$ for every eigenvalue $\mu \in \sigma(A)$. If $f(z)$ and $g(z)$ are holomorphic functions of the complex variable z , which are defined in an open set Ω of the complex plane and A is a matrix in $\mathbb{C}^{N \times N}$ with $\sigma(A) \subset \Omega$, then from the properties of the matrix functional calculus [5, p. 558], it follows that $f(A)g(A) = g(A)f(A)$. The reciprocal gamma function denoted by $\Gamma^{-1}(z) = 1/\Gamma(z)$ is an entire function of the complex variable z . Then, for any matrix A in $\mathbb{C}^{N \times N}$, the image of $\Gamma^{-1}(z)$ acting on A , denoted by $\Gamma^{-1}(A)$ is a well-defined matrix. Furthermore, if

$$A + nI \text{ is invertible for every integer } n \geq 0, \quad (1)$$

where I is the identity matrix in $\mathbb{C}^{N \times N}$, then $\Gamma(A)$ is invertible, its inverse coincides with $\Gamma^{-1}(A)$ and it follows that [6, p. 253]

$$(A)_n = A(A + I) \dots (A + (n - 1)I); \quad n \geq 1, \quad (2)$$

with $(A)_0 = I$.

For any non-negative integers m and n , from (2), one easily obtains

$$(A)_{n+m} = (A)_n (A + nI)_m, \quad (3)$$

and

$$(A)_{mn} = m^{mn} \prod_{s=1}^m \left(\frac{1}{m} (A + (s - 1)I) \right)_n. \quad (4)$$

Let P and Q be commuting matrices in $\mathbb{C}^{N \times N}$ such that for all integer $n \geq 0$ one satisfies the condition

$$P + nI, \quad Q + nI, \quad \text{and} \quad P + Q + nI \quad \text{are invertible.} \quad (5)$$

Then by [10, Theorem 2] one gets

$$B(P, Q) = \Gamma(P)\Gamma(Q)\Gamma^{-1}(P + Q), \quad (6)$$

where the gamma matrix function, $\Gamma(A)$, and the beta matrix function, $B(P, Q)$, are defined respectively [9] by

$$\Gamma(A) = \int_0^\infty \exp(-t)t^{A-I}dt, \quad (7)$$

and

$$B(P, Q) = \int_0^1 t^{P-I}(1-t)^{Q-I}dt. \quad (8)$$

In view of (7), we have [10, p. 206]

$$(A)_n = \Gamma(A + nI)\Gamma^{-1}(A); \quad n \geq 0. \quad (9)$$

If λ is a complex number with $\text{Re}(\lambda) > 0$ and A is a matrix in $\mathbb{C}^{N \times N}$ with $A + nI$ invertible for every integer $n \geq 1$, then the n -th Laguerre matrix polynomials $L_n^{(A, \lambda)}(x)$ is defined by [8, p. 58]

$$L_n^{(A, \lambda)}(x) = \sum_{k=0}^n \frac{(-1)^k \lambda^k}{k!(n-k)!} (A + I)_n [(A + I)_k]^{-1} x^k, \quad (10)$$

and the generating function of these matrix polynomials is given [8] by

$$G(x, t, \lambda, A) = (1-t)^{-(A+I)} \exp\left(\frac{-\lambda x t}{1-t}\right) = \sum_{n \geq 0} L_n^{(A, \lambda)}(x) t^n. \quad (11)$$

According to [8], Laguerre matrix polynomials satisfy the three-term recurrence relation

$$\begin{aligned} (n+1)L_{n+1}^{(A, \lambda)}(x) + [\lambda x I - (A + (2n+1)I)]L_n^{(A, \lambda)}(x) + \\ (A + nI)L_{n-1}^{(A, \lambda)}(x) = \theta; \quad n \geq 0, \end{aligned} \quad (12)$$

with $L_{-1}^{(A, \lambda)}(x) = \theta$ and $L_0^{(A, \lambda)}(x) = I$ where θ is the zero matrix in $\mathbb{C}^{N \times N}$.

Definition 1 [2] Let p and q be two non-negative integers. The generalized hypergeometric matrix function is defined in the form:

$${}_pF_q(A_1, \dots, A_p; B_1, \dots, B_q; z) \quad (13)$$

$$= \sum_{n \geq 0} (A_1)_n \dots (A_p)_n [(B_1)_n]^{-1} \dots [(B_q)_n]^{-1} \frac{z^n}{n!},$$

where A_i and B_j are matrices in $\mathbb{C}^{N \times N}$ such that the matrices $B_j; 1 \leq j \leq q$ satisfy the condition (1).

With $p = 1$ and $q = 0$ in (13), one gets the following relation due to [11, p. 213]

$$(1 - z)^{-A} = \sum_{n \geq 0} \frac{1}{n!} (A)_n z^n, \quad |z| < 1. \quad (14)$$

The following lemma provides results about double matrix series. The proof are analogous to the corresponding for the scalar case c.f [15, p. 56] and [21, p. 101].

Lemma 1 [2, 3, 19] If $A(k, n)$ and $B(k, n)$ are matrices in $\mathbb{C}^{N \times N}$ for $n \geq 0$ and $k \geq 0$, then it follows that:

$$\sum_{n \geq 0} \sum_{k \geq 0} A(k, n) = \sum_{n \geq 0} \sum_{k=0}^n A(k, n - k), \quad (15)$$

$$\sum_{n \geq 0} \sum_{k=0}^{\lfloor n/m \rfloor} A(k, n) = \sum_{n \geq 0} \sum_{k \geq 0} A(k, n + mk), \quad (16)$$

and

$$\sum_{n \geq 0} \sum_{k \geq 0} B(k, n) = \sum_{n \geq 0} \sum_{k=0}^{\lfloor n/m \rfloor} B(k, n - mk) \quad ; n > m, \quad (17)$$

where $\lfloor a \rfloor$ is the standard floor function which maps a real number a to its next smallest integer.

It is obviously desirable, by (2), to have the following:

$$\begin{aligned} \frac{1}{(n - mk)!} I &= \frac{(-1)^{mk}}{n!} (-nI)_{mk} \\ &= \frac{(-1)^{mk}}{n!} m^{mk} \prod_{p=1}^m \left(\frac{p - n - 1}{m} I \right)_k ; \quad 0 \leq mk \leq n. \end{aligned} \quad (18)$$

3 Definition of generalized Laguerre matrix polynomials

Let A be a matrix in $\mathbb{C}^{N \times N}$ satisfying the spectral condition (1) and let λ be a complex number with $\operatorname{Re}(\lambda) > 0$. For a positive integer m , we can define the generalized Laguerre matrix polynomials [GLMPs] by

$$F(x, t, \lambda, A) = (1 - t)^{-(A+I)} \exp\left(\frac{-\lambda x^m t^m}{(1 - t)^m}\right) = \sum_{n=0}^{\infty} L_{n,m}^{(A,\lambda)}(x) t^n. \quad (19)$$

By (14) one gets

$$\sum_{n=0}^{\infty} \sum_{k=0}^{\infty} \frac{(-1)^k \lambda^k}{k! n!} x^{mk} (A + I + mkI)_n t^{n+mk} = \sum_{n=0}^{\infty} L_{n,m}^{(A,\lambda)}(x) t^n,$$

which by using (17) and (3) and equating the coefficients of t^n , yields an explicit representation for the GLMPs in the form:

$$L_{n,m}^{(A,\lambda)}(x) = \sum_{k=0}^{\lfloor n/m \rfloor} \frac{(-1)^k \lambda^k}{k! (n - mk)!} (A + I)_n [(A + I)_{mk}]^{-1} x^{mk}. \quad (20)$$

It should be observed that when $m = n$, the explicit representation (20) becomes

$$L_{n,n}^{(A,\lambda)}(x) = \frac{(A + I)_n}{n!} - \lambda x^n I.$$

If $m > n$, then from (20) one gets

$$L_{n,m}^{(A,\lambda)}(x) = \frac{(A + I)_n}{n!}.$$

Moreover, it is evident that

$$L_{n,m}^{(A,\lambda)}(0) = \frac{(A + I)_n}{n!} \quad \text{and} \quad L_{n,m}^{(A,\lambda)}(x) = L_{n,m}^{(A,1)}(\lambda^{\frac{1}{m}} x).$$

Note that the expression (20) coincides with (10) for the case $m = 1$.

In view of (4) and (18), we can rewrite the formula (20) in the form

$$\begin{aligned} L_{n,m}^{(A,\lambda)}(x) &= \frac{(A + I)_n}{n!} \sum_{k=0}^{\lfloor n/m \rfloor} \frac{(-1)^{(m+1)k} \lambda^k}{k!} x^{mk} \prod_{p=1}^m \left(\frac{p - n - 1}{m} I\right)_k \\ &\quad \times \left[\prod_{s=1}^m \left(\frac{1}{m} (A + sI)_k\right) \right]^{-1}. \end{aligned} \quad (21)$$

Therefore, in view of (13), the hypergeometric matrix representation of **GLMPs** is given in the form:

$$L_{n,m}^{(A,\lambda)}(x) = \frac{(A+I)_n}{n!} {}_mF_m\left(\frac{-n}{m}I, \dots, \frac{(-n+m-1)}{m}I; \frac{A+I}{m}, \dots, \frac{A+mI}{m}; (-1)^{m+1}\lambda x^m\right). \quad (22)$$

We give a generating matrix function of **GLMPs**. This result is contained in the following.

Theorem 1 *Let A be a matrix in $\mathbb{C}^{N \times N}$ satisfying (1) and let λ be a complex number with $\operatorname{Re}(\lambda) > 0$. Then*

$$\sum_{n \geq 0} [(A+I)_n]^{-1} L_{n,m}^{(A,\lambda)}(x) t^n = e^t {}_0F_m\left(-; \frac{A+I}{m}, \dots, \frac{A+mI}{m}; -\lambda \left(\frac{xt}{m}\right)^m\right). \quad (23)$$

Proof. By virtue of (20) and applying (16), we have

$$\sum_{n \geq 0} [(A+I)_n]^{-1} L_{n,m}^{(A,\lambda)}(x) t^n = \left(\sum_{n \geq 0} \frac{t^n}{n!}\right) \left(\sum_{k \geq 0} \frac{(-1)^k \lambda^k}{k!} [(A+I)_{mk}]^{-1} x^{mk} t^{mk}\right),$$

which, by using (4) and (13), reduces to (23). $\square$

It is clear that

$$e^t {}_0F_m\left(-; \frac{A+I}{m}, \dots, \frac{A+mI}{m}; -\lambda \left(\frac{xyt}{m}\right)^m\right) = e^{(1-y)t} e^{ty} {}_0F_m\left(-; \frac{A+I}{m}, \dots, \frac{A+mI}{m}; -\lambda \left(\frac{xyt}{m}\right)^m\right).$$

Thus, by using (23) and applying (15), it follows that

$$\sum_{n \geq 0} [(A+I)_n]^{-1} L_{n,m}^{(A,\lambda)}(xy) t^n = \sum_{n \geq 0} \sum_{k=0}^n \frac{(1-y)^{n-k} y^k}{(n-k)!} [(A+I)_k]^{-1} L_{k,m}^{(A,\lambda)}(x) t^n.$$

By equating the coefficients of t^n , in the last series, one gets

$$L_{n,m}^{(A,\lambda)}(xy) = (A+I)_n \sum_{k=0}^n \frac{(1-y)^{n-k} y^k}{(n-k)!} [(A+I)_k]^{-1} L_{k,m}^{(A,\lambda)}(x).$$

Let B be a matrix in $\mathbb{C}^{N \times N}$ satisfying (1). From (3), (4), (14) and (16) and taking into account (20) we have

$$\begin{aligned} & \sum_{n \geq 0} (B)_n [(A + I)_n]^{-1} L_{n,m}^{(A,\lambda)}(x) t^n \\ &= (1-t)^{-B} \sum_{n \geq 0} \frac{(-\lambda)^n}{n!} (B)_{mn} [(A + I)_{mn}]^{-1} \left(\frac{xt}{1-t} \right)^{mn}. \end{aligned} \quad (24)$$

By using (4) and (13), the equation (24) gives the following generating function of **GLMPs**:

$$\begin{aligned} & \sum_{n \geq 0} (B)_n [(A + I)_n]^{-1} L_{n,m}^{(A,\lambda)}(x) t^n = (1-t)^{-B} \\ & {}_mF_m \left(\frac{B}{m}, \dots, \frac{B + (m-1)I}{m}; \frac{A+I}{m}, \dots, \frac{A+mI}{m}; -\lambda \left(\frac{xt}{1-t} \right)^m \right). \end{aligned} \quad (25)$$

Clearly, (25) reduces to (19) when $B = A + I$.

We now proceed to give an integral expression of **GLMPs**. For this purpose, we state the following result.

Theorem 2 *Let A and B be positive stable matrices in $\mathbb{C}^{N \times N}$ such that $AB = BA$. Then*

$$\begin{aligned} L_{n,m}^{(A+B,\lambda)}(x) &= \Gamma(A + B + (n+1)I) \Gamma^{-1}(B) \Gamma^{-1}(A + (n+1)I) \\ & \times \int_0^1 t^A (1-t)^{B-I} L_{n,m}^{(A,\lambda)}(xt) dt. \end{aligned} \quad (26)$$

Proof. According to (8) and (20), we can write

$$\begin{aligned} \Psi &= \int_0^1 t^A (1-t)^{B-I} L_{n,m}^{(A,\lambda)}(xt) dt \\ &= \sum_{k=0}^{\lfloor n/m \rfloor} \frac{(-1)^k \lambda^k}{k!(n-mk)!} (A + I)_n [(A + I)_{mk}]^{-1} x^{mk} B(A + (mk+1)I, B), \end{aligned} \quad (27)$$

and since the summation in the right-hand side of the above equality is finite, then the series and the integral can be permuted. Hence by (6) and (9) it

follows that

$$\begin{aligned}
 \Psi &= \Gamma(A + (n+1)I) \Gamma(B) \sum_{k=0}^{\lfloor n/m \rfloor} \frac{(-1)^k \lambda^k x^{mk}}{k!(n-mk)!} \Gamma^{-1}(A + B + (mk+1)I) \\
 &= \Gamma(A + (n+1)I) \Gamma(B) \Gamma^{-1}(A + B + (n+1)I) \\
 &\quad \sum_{k=0}^{\lfloor n/m \rfloor} \frac{(-1)^k \lambda^k x^{mk}}{k!(n-mk)!} (A + B + I)_n [(A + B + I)_{mk}]^{-1}.
 \end{aligned} \tag{28}$$

From (20), (27) and (28), the expression (26) holds. $\square$

We conclude this section giving an integral form of **GLMPs**.

Theorem 3 *For GLMPs the following holds*

$$\begin{aligned}
 \int_0^\infty x^A L_{n,m}^{(A,\lambda)}(x) e^{-x} dx &= \frac{\Gamma(A + (n+1)I)}{n!} \\
 {}_mF_0 \left(\frac{-n}{m}, \dots, \frac{-n+m-1}{m}; -; (-1)^{m+1} \lambda m^m \right).
 \end{aligned} \tag{29}$$

Proof. From (7), (9) and (20), it follows that

$$\begin{aligned}
 \int_0^\infty x^A L_{n,m}^{(A,\lambda)}(x) e^{-x} dx &= \sum_{k=0}^{\lfloor n/m \rfloor} \frac{(-1)^k \lambda^k}{k!(n-mk)!} (A + I)_n [(A + I)_{mk}]^{-1} \\
 &\quad \Gamma(A + (mk+1)I) \\
 &= \Gamma(A + (n+1)I) \sum_{k=0}^{\lfloor n/m \rfloor} \frac{(-1)^k \lambda^k}{k!(n-mk)!}.
 \end{aligned}$$

Using (18) and taking into account (13) we arrive at (29). $\square$

4 Recurrence relations

In addition to the three terms recurrence relation, some differential recurrence relations of **GLMPs** are obtained here.

Theorem 4 *The generalized Laguerre matrix polynomials satisfy the following relations:*

$$\begin{aligned}
 & \sum_{r=0}^{2m} \binom{2m}{r} (-1)^r (n+1-r) L_{n+1-r,m}^{(A,\lambda)}(x) \\
 &= (A+I) \sum_{r=0}^{2m-1} \binom{2m-1}{r} (-1)^r L_{n-r,m}^{(A,\lambda)}(x) \\
 & \quad - m\lambda x^m \sum_{r=0}^m \binom{m}{r} (-1)^r L_{n-r-m+1,m}^{(A,\lambda)}(x) \\
 & \quad - m\lambda x^m \sum_{r=0}^{m-1} \binom{m-1}{r} (-1)^r L_{n-r-m,m}^{(A,\lambda)}(x),
 \end{aligned} \tag{30}$$

and

$$\sum_{r=0}^m \binom{m}{r} (-1)^r D L_{n-r,m}^{(A,\lambda)}(x) = -\lambda m x^{m-1} L_{n-m,m}^{(A,\lambda)}(x). \tag{31}$$

Proof. Differentiating (19) with respect to t yields

$$\begin{aligned}
 (1-t)^{2m} \sum_{n \geq 1} n L_{n,m}^{(A,\lambda)}(x) t^{n-1} &= (A+I)(1-t)^{2m-1} \sum_{n \geq 0} L_{n,m}^{(A,\lambda)}(x) t^n \\
 &\quad - \lambda m x^m t^{m-1} (1-t)^m \sum_{n \geq 0} L_{n,m}^{(A,\lambda)}(x) t^n - \lambda x^m t^m (1-t)^{m-1} \sum_{n \geq 0} L_{n,m}^{(A,\lambda)}(x) t^n.
 \end{aligned}$$

With the help of the binomial theorem, it follows that

$$\begin{aligned}
 & \sum_{n \geq 0} \sum_{r=0}^{2m} \binom{2m}{r} (-1)^r (n+1) L_{n+1,m}^{(A,\lambda)}(x) t^{n+r} \\
 &= (A+I) \sum_{n \geq 0} \sum_{r=0}^{2m-1} \binom{2m-1}{r} (-1)^r L_{n,m}^{(A,\lambda)}(x) t^{n+r} \\
 & \quad - \lambda x^m \left[m \sum_{n \geq m-1} \sum_{r=0}^m \binom{m}{r} (-1)^r L_{n-m+1,m}^{(A,\lambda)}(x) t^{n+r} \right. \\
 & \quad \left. + \sum_{n \geq m} \sum_{r=0}^{m-1} \binom{m-1}{r} (-1)^r L_{n-m,m}^{(A,\lambda)}(x) t^{n+r} \right].
 \end{aligned}$$

Hence, by equating the coefficients of t^n , equation (30) holds.

Now, by differentiating (19) with respect to x one gets

$$\sum_{n \geq 0} DL_{n,m}^{(A,\lambda)}(x)t^n = \frac{-\lambda mx^{m-1}t^m}{(1-t)^m}(1-t)^{-(A+I)} \exp\left(\frac{-\lambda x^m t^m}{(1-t)^m}\right).$$

Thus, it follows that

$$\sum_{n \geq m} \sum_{r=0}^m \binom{m}{r} (-1)^r DL_{n-r,m}^{(A,\lambda)}(x)t^n = -\lambda mx^{m-1} \sum_{n \geq m} L_{n-m,m}^{(A,\lambda)}(x)t^n,$$

which, by equating the coefficients of t^n , gives (31). $\square$

It is worthy to mention that (30) reduces to (12) for $m = 1$. Also, for the case $m = 1$, the expression (31) gives the result for the Laguerre matrix polynomials in the form

$$DL_n^{(A,\lambda)}(x) = DL_{n-1}^{(A,\lambda)}(x) - \lambda L_{n-1}^{(A,\lambda)}(x).$$

Differentiating (19) with respect to x again we obtains

$$\begin{aligned} \sum_{n \geq 0} DL_{n,m}^{(A,\lambda)}(x)t^n &= -\lambda mx^{m-1}t^m(1-t)^{-(A+(m+1)I)} \exp\left(\frac{-\lambda x^m t^m}{(1-t)^m}\right) \\ &= -\lambda mx^{m-1} \sum_{n \geq m} L_{n-m,m}^{(A+mI,\lambda)}(x)t^n. \end{aligned}$$

Hence, by equating the coefficients of t^n , we readily obtain

$$DL_{n,m}^{(A,\lambda)}(x) = -\lambda mx^{m-1} L_{n-m,m}^{(A+mI,\lambda)}(x). \quad (32)$$

It may be noted that the formula (32) reduces to the result of [12, p. 16] for Laguerre matrix polynomials, when $m = 1$, in the form

$$DL_n^{(A,\lambda)}(x) = -\lambda L_{n-1}^{(A+I,\lambda)}(x).$$

Using the fact that

$$(1-t)^{-(A+I)} \exp\left(\frac{-\lambda x^m t^m}{(1-t)^m}\right) = (1-t)^m (1-t)^{-(A+(m+1)I)} \exp\left(\frac{-\lambda x^m t^m}{(1-t)^m}\right),$$

and (19), one gets

$$\sum_{n \geq 0} L_{n,m}^{(A,\lambda)}(x)t^n = \sum_{n \geq r} \sum_{r=0}^m \binom{m}{r} (-1)^r L_{n-r,m}^{(A+mI,\lambda)}(x)t^n.$$

Hence, we obtain that

$$L_{n,m}^{(A,\lambda)}(x) = \sum_{r=0}^m \binom{m}{r} (-1)^r L_{n-r,m}^{(A+mI,\lambda)}(x).$$

Let B be a matrix in $\mathbb{C}^{N \times N}$ satisfying (1) with $AB = BA$. Note that

$$(1-t)^{-(A+I)} \exp\left(\frac{-\lambda x^m t^m}{(1-t)^m}\right) = (1-t)^{-(A-B)} (1-t)^{-(B+I)} \exp\left(\frac{-\lambda x^m t^m}{(1-t)^m}\right).$$

Using (14), (15) and (19), it follows that

$$\sum_{n \geq 0} L_{n,m}^{(A,\lambda)}(x) t^n = \sum_{n \geq 0} \sum_{k=0}^n \frac{(A-B)_k}{k!} L_{n-k,m}^{(B,\lambda)}(x) t^n.$$

Identifying the coefficients of t^n , in the last series, gives

$$L_{n,m}^{(A,\lambda)}(x) = \sum_{k=0}^n \frac{(A-B)_k}{k!} L_{n-k,m}^{(B,\lambda)}(x). \quad (33)$$

By reversing the order of summation in (33), we obtain that

$$L_{n,m}^{(A,\lambda)}(x) = \sum_{k=0}^n \frac{(A-B)_{n-k}}{(n-k)!} L_{k,m}^{(B,\lambda)}(x). \quad (34)$$

And finally, we prove the following result.

Theorem 5 *The GLMPs is a solution of the following differential equation*

$$\begin{aligned} & \left[\Theta \prod_{s=1}^m \left(\frac{1}{m} (\Theta - 1) I + \frac{1}{m} (A + sI) \right) + (-1)^m \lambda m x^m \right. \\ & \quad \left. \times \prod_{p=1}^m \left(\frac{1}{m} \Theta + \frac{p-n-1}{m} \right) I \right] L_{n,m}^{(A,\lambda)}(x) = \theta, \end{aligned} \quad (35)$$

where $\Theta = x \frac{d}{dx}$.

Proof. It is clear that $\frac{1}{m} \Theta x^{mk} = k x^{mk}$. According to (22) we can write

$$\begin{aligned} W &= {}_mF_m \left(-\frac{n}{m} I, \dots, -\frac{n-m+1}{m} I; \frac{A+I}{m}, \dots, \frac{A+mI}{m}; (-1)^{m+1} \lambda x^m \right) \\ &= \sum_{k=0}^{\lfloor n/m \rfloor} \prod_{p=1}^m \binom{p-n-1}{m} \left[g \prod_{s=1}^m \left(\frac{1}{m} (A + sI) \right)_k \right]^{-1} (-1)^{(m+1)k} \lambda^k \frac{x^{mk}}{k!}. \end{aligned}$$

It follows after replacing k by $k + 1$ and using (3) that

$$\begin{aligned}
 & \frac{1}{m} \Theta \prod_{s=1}^m \left(\frac{1}{m} (\Theta - 1) I + \frac{1}{m} (A + sI) \right) W \\
 &= \sum_{k=0}^{\lfloor n/m \rfloor} \prod_{p=1}^m \left(\frac{p-n-1}{m} \right)_{k+1} \left[\prod_{s=1}^m \left(\frac{1}{m} (A + sI) \right)_k \right]^{-1} \\
 & \quad (-1)^{(m+1)(k+1)} \lambda^{k+1} \frac{x^{m(k+1)}}{k!} \\
 &= (-1)^{m+1} \lambda x^m \sum_{k=0}^{\lfloor n/m \rfloor} \prod_{p=1}^m \left(\frac{p-n-1}{m} \right)_{k+1} \left[g \prod_{s=1}^m \left(\frac{1}{m} (A + sI) \right)_k \right]^{-1} \\
 & \quad (-1)^{(m+1)k} \lambda^k \frac{x^{mk}}{k!} \\
 &= (-1)^{m+1} \lambda x^m \prod_{p=1}^m \left(\frac{1}{m} \Theta + \frac{p-n-1}{m} \right) W.
 \end{aligned}$$

Therefore, W is a solution of the following differential equation

$$\left[\frac{1}{m} \Theta \prod_{s=1}^m \left(\frac{1}{m} (\Theta - 1) I + \frac{1}{m} (A + sI) \right) + (-1)^m \lambda x^m \prod_{p=1}^m \left(\frac{1}{m} \Theta + \frac{p-n-1}{m} \right) \right] W = \theta.$$

Since $W = n![(A + I)_n]^{-1} L_{n,m}^{(A,\lambda)}(x)$, then (35) follows immediately. $\square$

It is worth noticing that taking $m = 1$ in (35) gives the following [8]

$$\left[xI \frac{d^2}{dx^2} + (A + (1 - \lambda x)I) \frac{d}{dx} + \lambda nI \right] L_n^{(A,\lambda)}(x) = \theta.$$

Acknowledgments

The authors wish to express their gratitude to the unknown referee for several helpful suggestions.

References

- [1] R. S. Batahan, A new extension of Hermite matrix polynomials and its applications, *Linear Algebra Appl.*, **419** (2006), 82–92.
- [2] R. S. Batahan, *Generalized Gegenbauer matrix polynomials, series expansion and some properties*, In: Linear Algebra Research Advances, Editor G. D. Ling, Nova Science Publishers, (2007), 291–305.
- [3] E. Defez, L. Jódar, Some applications of the Hermite matrix polynomials series expansions, *J. Comput. Appl. Math.*, **99** (1998), 105–117.
- [4] E. Defez, L. Jódar, Chebyshev matrix polynomials and second order matrix differential equations, *Util. Math.*, **61** (2002), 107–123.
- [5] N. Dunford, J. Schwartz, *Linear Operators*, Vol. I, Interscience, New York, (1957).
- [6] E. Hille, *Lectures on Ordinary Differential Equations*, Addison-Wesley, New York, (1969).
- [7] L. Jódar, R. Company, Hermite matrix polynomials and second order matrix differential equations, *J. Approx. Theory Appl.*, **12** (2) (1996), 20–30.
- [8] L. Jódar, R. Company, E. Navarro, Laguerre matrix polynomials and system of second-order differential equations, *Appl. Numer. Math.*, **15** (1994), 53–63.
- [9] L. Jódar, J. C. Cortés, Some properties of gamma and beta matrix function, *Appl. Math. Lett.*, **11** (1) (1998), 89–93.
- [10] L. Jódar, J. C. Cortés, On the hypergeometric matrix function, *J. Comput. Appl. Math.*, **99** (1998), 205–217.
- [11] L. Jódar, E. Defez, On Hermite matrix polynomials and Hermite matrix function, *J. Approx. Theory Appl.*, **14** (1) (1998), 36–48.
- [12] L. Jódar, E. Defez, A Connection between Laguerre’s and Hermite’s matrix polynomials, *Appl. Math. Lett.*, **11** (1) (1998), 13–17.
- [13] L. Jódar, E. Defez, E. Ponsoda, Orthogonal matrix polynomials with respect to linear matrix moment functionals: Theory and applications, *J. Approx. Theory Appl.*, **12** (1) (1996), 96–115.

- [14] L. Jódar, J. Sastre, The growth of Laguerre matrix polynomials on bounded intervals, *Appl. Math. Lett.*, **13** (8) (2000), 21–26.
- [15] E. D. Rainville, *Special Functions*, The Macmillan Company, New York, (1960).
- [16] J. Sastre, E. Defez, On the asymptotics of Laguerre matrix polynomial for large x and n , *Appl. Math. Lett.*, **19** (2006), 721–727.
- [17] J. Sastre, E. Defez, L. Jódar, *Laguerre matrix polynomial series expansion: Theory and computer applications*, *Math. Comput. Modelling*, **44** (2006), 1025–1043.
- [18] J. Sastre, E. Defez and L. Jódar, Application of Laguerre matrix polynomials to the numerical inversion of Laplace transforms of matrix functions, *Appl. Math. Lett.*, **24** (9) (2011), 1527–1532.
- [19] K. A. M. Sayyed, M. S. Metwally, R. S. Batahan. *On Gegeralized Hermite matrix polynomials* , *Electron. J. Linear Algebra*, **10** (2003), 272–279.
- [20] K. A. M. Sayyed, M. S. Metwally, R. S. Batahan. Gegenbauer matrix polynomials and second order matrix differential equations, *Divulg. Mat.*, **12** (2) (2004) , 101–115.
- [21] H. M. Srivastava, H. L. Manocha, *A Treatise on Generating Functions*, Halsted Press (Ellis Horwood Limited, Chichester), Wiley, New York, Chichester, Brisbane, and Toronto, (1984).
- [22] Z. Zhu, Z. Li, A note on Sobolev orthogonality for Laguerre matrix polynomials, *Anal. Theory Appl.*, **23** (1) (2007), 26–34.

Received: 10 November 2014